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I 10 mwn: status of 0”3 "W TP vis-a-vis V15 and PINa NRYYN
a  ©»» wTp are not vulnerable to V"1
b  yinanonw:
i wMrMoa
i JopMrarn
I xpa: w™: 0P v
a  72pp does not attach to their n11p (but, 1322971, we may not get nX1n from them)
i Source: Rom:RON from nMIN (vv. 1-2); nmn is limited to YR’ 12 (v. 3), excluding n»»
b novr 912,509 they are not vulnerable to V"9,
i Source: w3 inferred from M1 via y::y (above); I from MV (M9 N::99N) above; MM limited to a2 -v. 7
¢ 1o they do not have the purview to generate nmnn;
i Source: nmnn compared to nnNa wyn, which is compared to 137 Twyn (WYn WY) — which is limited to 12
1 Challenge: can a wp’n be daisy-chained? (which it cannot in the are of n*w1p)
(a) Answer: 137 99yn is pon->not all is within DwTp
(b) Challenge: that answer only satisfies authority that sees the principle as the Tbn;
(i) But: the 1"n who sees the principle as the 5 (nnna 1wyn — which is 0W1p) — how can he approve?
(if) Answer: nnna nwyn itself is a non-time-specific obligation, which n» cannot offer (1 wp>n only)
d  p»or they may not offer mo01 independently but their offerings require oo,
i Source: v.5 - mmn limits gifts of 0301 to »3; N33 extends obligation of ’3v1 to accompany their miavp
Dissent: »ov 1 is 7mnn in all cases (like YR7w’ »w7p) as v. 3 indicates 'nY
f  Note: exemption from n>yn only applies to nam »7p; but n»yn applies to 2”072 'V
i Source: since exemption from n%yn inferred from nnyn, limited to »”n1p (like NMYIN), not DT NVITH
g Analysis of 7772 Rn0IY DT, then pI13; MWL —NENN NRXIN; TN -N¥NN R (but Nax 127p — always n¥ynn)
i Applies to: YR 129p, but 3 129p, in any case, NN RY
1 Suggestion (students to 97): this is contra »01 "7, who equated 0”3 j27p to YR’ 127p
2 Rejection: he may agree; y>xn "% is limited to on% — and not to n»n»
(a) Challenge (2737 7772 82171 77): if 50, no MR of NRMV vis-a-vis 0N 127 — v. 7 limited to onY
3 Rather (?wx 77): DY N¥1Y is the key phrase; no »x for nrmMoV1 D73 127p
III 20 mwn: inclusion of items, exluded from %9, in RNVY IMI INOR
a  p’m allitems are included in 8PVY IMI *NO’R, except DT
b "2 only items which are edible (e.g. ymp) are included, but no liability for nkno for eating wood, n111% or n1op
c  Nn71x reason to think that nkmv wouldn’t extend beyond scope of 5wa:
i if Yws, which only has n»1ap nron (for eating), no ny»1 beforehand and has no permitting circumstance
1 nonetheless: is limited to 171'nn 1% ww 927 (Whether to people or to nam)
ii  then: nkmv, which allows for 791 1%, demands ny» beforehand (and after) and (1127¥2) 15591 MmN
1 certainly: should be limited to 171’nn 1% wv 727 (Whether to people or to narm)
iii  therefore: v. 7 reads (kMY MOIR1) - DV TP DA IWR — to include everything
1 note: we might have thought that the 11o’R exists at point of w1pn — therefore it states 27 TWR (v. 8)
(a) meaning (per ¥”7): being put in a state ready for na7pn (since touching alone can’t generate nn>n 21n)
(b) rule: if it is a n"»>w7 — when the 'nn are brought; if not, when it is put in the »>
iv  applications: to 9m (via :19n:99n; vv. 6-7); we prefer comparing to nkmv and not to Y19, in spite of M=y
1  reason: am is more similar to NRMV — 9”1”3 — (,91 not at Np>r and both use »19n)
(a) challenge: 9m like 5w in 5 ways — M (not 9951 IMIN), P'X (not nxIN), MNY (problem can’t be fixed), 1t
and 17p (709 is in 129p, not 2pn) — and these are more
2 rather: per nY’s teaching — v. 3 implies 2 P59 — kMY and M
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